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Base your answers on what you studied in | ¢ Lo-¥135500 -2 Ciwys Lo g gid -2

Biology: PRSI A e o

1- Write the scientific term: e JIAt elall mllaaal! 1S3 -
- A lymphoid gland located in the upper left 2 AL 3 ylealt
side of abdominal cavity. Coladl b ans Ryglied s

Ol g (ye (g glal ! pun ¥

2- Choose the right answer only: 1 dadd Aol Asla W i - Y
The immune receptors CD4 are found on | (pe bl OMGIwall w93
the surface of:... o SR gl e CD4 g5

@ B- lymphocytes. (B) aaLa @
(b)  Macrophages. FRVEWRTII @)
@ Natural killer cells. Sacdall Al5LEY @
@ T helper cells (Tg). TH sac bt gt @

3- Choose only one question (A) or (B) and | (<) of (1) ondtaud) doi i) ¥
define it: R

. . . . ‘w M éﬁ ‘U

A- Cartilaginous joints. By ynid] Luslaett (1)
B' Ankle. .‘_'35),_”(‘_')
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4- Explain the following:

The corpus luteum degenerates at the. B >l B e ¥ paindl pai
fourth month of pregnancy and abortion

will not occure. ool Ml Gy ¥ U3 a9 Jel (pe

1k Lo yud - ¢

5- What happens when:

tubie Sdona 1310 =0

- Absence of DNA polymerase enzyme | 51gs (o DNA 3,0l @33l ol
from the cell nucleus.

6- Mention two examples in which gametes | (553 Olodgs ullie 831 -1
are formed as the result of mitosis division. Gk Oe Al Cmﬂm

“$3 g pluds)
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7 - Choose only one question (A) or (B)
and compare between the role of each:
A-The cell wall and the epidermis of plant

surface in plant immunity.

B- Hypersensitivity and immune cellular

structures in plants.

A o M1 200 sl 3 - Zalall A g3l | Al s | alad | Balgds Olomial
o 1) sk 2 i aled)

1 (@) 9f (1) ot )t S350 -V
b (0 JS 393 (e ()13
PP ER (PRI (PIPINES [RNPS (N ()
Lt Ao liad | A OLad  edawd
Sy A paalt dcwlust! ()
S gt e liodt
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8- Show by a labelled drowing only the | cblcdiadeydnzd quwdbmsy-A

structure of a DNA molecule. DNA egj w3

9- Mention the functions of thyroxin 09yt Laills g ,S31 -4
hormone. (S g it

5
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10- Choose only one question (A) or (B) | (<) of (1) ot audt dsi yisnt -\ ¢
and write its scientific term: ke 1l | LSt @

A- A hormone responsible for increasing the )

< . s “ b’ . ‘

thickness of endometrium. Hlow 8Ly e dony D9, (1)
> sl :\JUQA

B- The transfering of pollen grains from the
dlie (o rlall wge Jlaol (@)

anther of a flower to the stigma of another
flower on another plant but of the same | i ¢,575,0) cws 115 ,0)

species. ;
P g9 pudd (po 31 Lo
11- What happens if: e Godomy 130e -
An experimental rats are injected by a Lotss (o dadlsn 012 Ga>
mixture of heat killed pnumonia virulent | aiwedt (S) (8531 wlgdd
bacteria (S) with living non virulent 22 (R) L5085 as Lyl p> A gzl
bacteria (R) ot A et
12- What are the results of: 1Al AG yledl AL Le - Y
Absence of the tube nucleus from the pollen | .Zlal de (po 20so¥ 151581 Cle
grain.
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13- Choose the right answer only from the | &azd dsvouall Al ¥ i) -\ ¥
following o Las

8393 & OLUdOY guasdl Hslatl a9
....... o2 Lodell pganga)dhs bl

The infective stage during the life cycle
of plasmodium malaria to man is found in

(@)  Female mosquito stomach. syt giisane (1)
@ Male mosquito stomach. i gad S3Eae @
@ Saliva of male mosquito. s gad) ,S3 et @
(@  Saliva of female mosquito. asgadionicls  (3)
14- What happens if the measles virus 193] Eatomy 13Le - €

attacked the man for a second time? 5 yall )L ¥ Baom g b oL

Saola
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15- Compare between the following: 1ol Las JS G sl -\ 0
- Identical twins and fraternal twins i Bladl w3151y ASLaiall il gl

according to their formation. . .
(95 Ad ploy o (o

Franternal twins Identical twins
ALt @i gt AslaTiad) @i gt
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16- Choose only one question (A) or (B)
and draw a complete labelled diagram
only for it:

A- Steps of formation of pollen grain inside
the anther starting with spore mother cell.

B- Germinated pollen grain.

@ (@) 91 (1) o) i 5t -1 %
1OLLed) A0S po dadd @bl g
e ¥ g g8 | Bty Ui (1)

U Qg (2955 J> e iy
b rlat s (o)
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17- Look at the following figure then
answer
First : Which figure (1) or (2) is in
a state of contraction and which
one is in a state of relaxation?

Second : What is the result of absence of
cholinostrase enzyme from these
parts?

(1)

oy M1 2300) shon 31— Faladt A 3L Awlyut ALa3) Balgas (ol
St 4) sk 443 bl ples]

o | @ (S lBad ) JSEI) i yal -\ V

t b Las

G2 (1) ¢ (V) OlSadt G 61 3
Bl 2 Legaly polan! Wl
ol

Ot 93 2330 Dl A Le Lol

Sl lial | UG 52 i

10
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18- If you have a sequence of nucleoltides | ade DNA & 1& SLiit oIS 131 -V A
on one strand of DNA ST

'3 . TACGAATTCATT.....'5

First : Explain the role of (TAC) and (ATT) | ATT ¢ TAC 5,1 595 siad :¥y]
codons on this strand during protien | u, ar s Ll sagmgell
synthes.ls. 2 gyl Guling £Lis

Second : What 1s the effect of restriction a5 sl La +Lols

Endonuclease enzyme on the ) X @
double helices? 792 edl sl e Ay sl

11
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19- Choose only one question (A) or (B)
and answer it.

Give reason.

A- Surgical sterlization in male and female
of human is not a temporary mean of
contraception.

B- The vagina secretes mucus and has skin
folds.

1 (@) 9 (1) ot 3t s J250 -1 4

rdle

o o>t @aait! e ¥ (1)
Filugtl (ro GLuaN Sy ,S3
et | piad WiB el

LeS Liboline Silu dgalt 352 ()
ol OLS Gle (g g 43

20- Choose the right answer only from the
following:

- From the cells which produced and
matured within bone marrow are:
T-lymphocyte ( Tfy)

B-lymphocytes.

Macrophages.

®0E

T cytotoxic (1)

12

dadd domoall Al i) =Y

rob Lea
leals] @iy U1 LI (e

(T saeluadt aatan Lsts @
.(B) aate s @
B pS raal | LIS @

(T astanragenpssn ()
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21- What happens if: s e Sty 13Le - Y

Unability of the blood to carry euough OS5 At dcllatul ade

oxyge to the muscle. o9 (IS deSty Ao yully

Agils Lo | Aliaslt

22- What are the results of: 1 ole AG ylall gALEN A Lo - Y Y

One of the two male nucleii (N) fused with | =S (615d! gual zlend!

the embryo sac nucleii (2N) within embryo | ac g b dod! usI 5150
sac in flower ovule .

By 331
23- Write the scientific term for the e J1dat elal| allaaal US| - YY
following sentence: A 3yl

A type of white blood cells which
destroys the strange bodies and changes )
to phagocytes when needed. A J9mg dp pall plua W yeaty

Lt e dceals LS

podi sliacdt antt LM £1531 usl

13
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24- What is the role played by growth | (se s dal il joutl sa Le -V
hormone in human? OB b sastl

25- Choose only one question (A) or (B) 1@ (@) 9l (1) o1 3udt i S350 Yo
and answer it.

O 12
Compare between: | ) . :
Aaally b &a..J ‘_,cw‘)j..\.ﬂ (‘)
A- The immune role of Peyer’s patches and .
- glaedt!

lymphatic node.

B- The immune role of tonsils and tears. g82-ty (il peliad 5931 ()

14
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26- Study the following figure which o e (SO LN IS (a0 - Y1
represents a type of RNA then answer ‘ AP A0
the following. ¢t les cirl @2 RNA BLAG 150

(4) (1) 3)
\ I
x
\
s (2) \¥!
First : Write the labels (1) and (2) (1) (1) plas¥ adde i Lo LS1

Second : a nucleotide may replaced another | 3591595 JM>] Sty 18 :Lals
on a DNA strand / 3—»’5 but protien is DNA day p&s e (5531 Yoo

o ItE /; /-
not changed Explain this statement dhrelldesy 5 «— 3
ST pid . 92 LaS L1 (g g ot

27- Explain the role of each : JS 4y pgdi ANl Houdl 9o Le - YV
The prostate gland and the two vas Opeleglly Bliwgrd) 3ue (pe
deferenses in a human male. SOLua W HS3 LB (pdBL)

15
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28- Choose one question only (A) or (B) | p (@) 5i (1) it dud dosni pisnt YA
and write its scientific term. dieping S alal) llasaalt S5

A- Apart of the skeletal bone which connects | 1., ., it ataatt ysigttst3ai aai (1)
the two lower limbs to verteberal column. (6550 3 el Cysiad (i La

B- The distance between each two successive e Cyadas JS (oo Halusad | ()

(Z) lines in the middle of light band. aiiia B Bagasall (Z)

Lot aakaiall

29- Choose one question only (A) or (B) | :(<) oi (1) ot gt dsi i) - ¥4

and mention what is meant by: i Sguaial e
A- Receptors in plants. Lt 43 &St (1)
B- Neutralization. ) Jskait (L)

16
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30- Choose one question only (A) or (B)
and write its position and its function:

A- Umbilical cord in human.

B- The two ovaries in female of human.

(@) 91 (1) o 13l ) o f st =Y
1 A2udd 99 OlSe ,SBI @D

O ¥ 8 (6t St (1)

Ol 1 (51 B (il ()

-8 2PN O LS
Function position

31- Choose the right answer only of the
following:

The spermatides changes into sperms at the
stage of........

duplication phase.
Metamorphosis phase.
growth phase.

®06

maturation phase.

dadd dovomall dala® o =Y

1ol Lea
Olilgus 1 A giad! a3t J gomis

17
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32- Give reason: 1 Lat Yo -¥Y
Confirmative binding is certain between Baliaatt Al ¥ (pos ol y ¥ 5 Gims

antibodies and antigens. 1S3 el ¥

33- What happens when: rdie Gidony 130 - YV
Absence of DNA helicase enzyme from | LM a3l (o gt @33l ol
the nucleus of Euokaryotes. §51 9t Ol

34- Study the following figure which shows the | a—ass @it G JSEH (uyal -V
structure of a sex cell (gamete) then answer:

First : What happens if the part number (2)
1s absent?

| FYVPIREA L P WRE S WE NIV S
£l L& 13) sy 3o : ¥ gl

(Y) 3
Second: Mention the importance of the i - ”( fd’ A
structure number (1) (V) B S, Aol Le LA

18
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35- Compare between the effect of FSH and

LH Hormones on a human female.

(Ao M1 A2 00L) slen ¥ Balall 2 g3l Ayt aLad Balgs (ylomiial

1 (0 JS G (p1B YO
sl cus o LH (FSH iga p0
OLad ¥ 0T Lo Leagie JS

19
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36- Two parts of DNA molecules equal in | DNA dail s (po (s i gy @ =¥
lgngth were put in two test tubes and a | ;o (gl &b Jglall Agluie
different enzyme is added to each of them | ¢ 4 (oafy jlaswr ot
as shown in the figure.

COlS g Calitns @301 Bus e Legio
pull o ge 9o LS milt
E N /\E
2 N ] N 1
N N

Deoxyribose sugar  Single parts of DNA, its length
3805 uSHs ySw between 4 - 7 nucleotides
+ Lgtsbo DNA (40 53 p20 o3
Nitrogen bases 1S 58 525 V£ (ya
Al 9,10 delgd
+
phosphate groups
Olaw 93 Ole gamse
mention the name of the enzyme in each | E,« B, Jstuadt ¥t gul 585!
case E , E, . Explain your answer. e oo Al S 2

20
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37- Choose only one question(A) or (B) and
write its scientific term.

A- A small circular molecule of DNA found
in cytoplasm of prokaryotes.

B- DNA wounded around clusters of histone
proteins.

38- Choose only one question (A) or (B)
and then explain its importance.

A- The glenoid cavity
B- The acetabulum.

(@) 9l (1) ot gudt sy ) Y'Y

1 ole JIAN elalf zllacel) COS) @2

NESPYIN 21 (S IPRRE RIS BN ()
1901 Sl o 2y Sy gheaw

(e Sle gams Jg ity DNA (o)
-4 gugll Gl g -1

(@) 91 (1) o guadt A § ptn) -YA
zAJ..g.e.M @&_9“3

.C});}" oo gl | (i)
il i 3l ()

21
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39- Choose only one question (A) or (B) 1@ (o) 9 (1) e 3uadt i 2500 -¥4
and answer it:
. e
Give reason for: ) .
_ L g ¥ cdnle SIS (1)
A- Spirogyra algae reprpduces sexual.y and | ¢ yy rty i ¥y Gousia
asexually but there is no alternation of

generation in it’s life cycle Syalls dilis 393 B s

i i - Y Il ¥ CBlad
B- Zygospore in spirogyra algae divides by Jla ¥ o3
meiosis. . 3 rensnt P ()

RYSYYE RRVE Tyveen. 4

40- Show how to obtain a diploid individual | e Jgasdt (San a8 oy -t -
(2N) without pollenation or fertilization. |, . . .. il 5y

Slas | ol mali s (OY)

22
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41- Choose the right answer only from the | &azd doualt dala ¥ o) - £

following: 5l Lo
From the nturlbarins WHh 1t 1| s st st o
e OLLO Y o8 Ja¥ I gland| das

@ acidic gastric Juices Jieaolmt| Buaal| Ol a0 @
@ histamine. O licagl | @
@ interleukines. Sl g @
@ lymphokines. LS gaedl @

42- Mention two uses only of the human | asiadt Aa158 (pe (il S0 -£ Y
enome. .
g << ,.M‘. f

23
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43- The following sequence shows the PP P RS- PR [ [P S R
arrangement of nitrogenous bases on . . K
one strand of DNA. paC et ekt ol
DNA oy pi

/3 . TAC CCC GAT GGC CCG TTA ACT...5

First : Write the sequence of nucleotides on. | 2 &ladgdSgddl aalis oS! Y g
mRNA transecribed from it. -4is - guiad | M.RNA 255>

Second : Write the name of enzyme which | pasuusdt @ ¥ eul cash:Lals
used 1n this case.

.Z\Jl:-..!tc.'.\.m‘_,é

44- Show by a labelled diagram only the | ol GlS o dadd gu U pg -t ¢
structure of a thoracic vertibrae in saall 8 T gl Fualac 3,38 (o3
verteberal column in man. \

24
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45- Study the following figure and answer Loc o @ (L IS (gupal - €0

First : Mention the name of this figure. o
Second : Mention the role played by the LIS dde Juo Le LS| :;(3“

organell no. (3) a1 A 0
R LST) L

D3 2) 2ad! 4 5 4
A(Y) )
25
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